® x2 =0.0016
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2.

@®—b? = (a-b)(a+b) VL B3] 12-32 45272 492 112 +
132 — 152 + 172 — 192 & AAtsA?

D -100 @—200 ® -300 @ -450 ® -540

B ~

12-32 45272492 -112 4132 - 152 + 172 - 192
=1-3)1+3)+GB-7B+7)+---+(17-19)(17 + 19)
=-2(14+3)-2(64+7)—2(9+11) —2(13 4+ 15) — 2(17 + 19)
=-2(14+3+5+---+17+19)

=-2X5x%x20

= -200




(x=1)(x=2)(x=3)(x—4) + m °] FAAFA 0] HZF St= 5 m
o] 2% Ftolel,

> E:

> EEm=1

B

(x=1D(x-2)(x=3)(x=4)+m
=x-1Dx-4)(x-2)(x-3) +m
= (x> -5x+4)(x>-5x+6)+m
x? -5 =12 gt
(t+4)(t+6)+m
+100+24+m
4+ 10t 4244+ m = (1 + 5)?
24 +m = 5
som=1°|t},




T-5tefzt.

24




5.

6x* —bx+a=(3x+2)(bx-3) € W, a+b 2 G- 5toft

6x2 — 5x 4+ a = 3bx% + 2bx — 9x — 6
3b=6°E2Zb=2,a=-6
Ta+b=-6+2=-4




8l+x*=x*-81=x*-92=(x+9)(x-9)




7.

o0& 4 87 Q5T 2L

oo

@ x®+2xy+y*=(-x+y)?
@ ax-bx—-a+b=(a-b)(x+1)
@) +x-6=(x-2)(x+3)

@ 6x2—x-1=(2x+1)(3x-1)
® 2 +2=(x—V2)(x+ V2)




8. 2xX2-Ax+8=(Bx-1)(x-C) € W, A+ B+ C 9] & Fotoi=h

> E

> HE . A+B+C=27

&8 \

(Bx—1)(x-C) =Bx*-BCx-x+C

=2x*-Ax+38
B=2,C=38
—BC-1=-2%x8-1=-17T=-A,A=17
LA+B+C=27




9.

O|ZHA] ax? +30x+b & YA FA 2 T2 H (Cx+3)2 <,

o gre Foa?

ol W

N |

b

a+c

ax? +30x 4+ b = (ex+3)> = *x® + 6cx + 9
=a=c? 30=6¢c, b=9
= a=25 ¢=5 b=9

b 9 9 3

A —— = === g 5




10. —8-7a(a-2)+a*(a-2)*=(a+A)(a+B)(a+C)(a+D) L
g, A+B+C+D & Fotoiet

[
H -

| 2
> met: 4

od -

= at)?
= (at—8) (ar+ 1)

= (a2—2a—8) (a2—2a+1)
=(a-4)(a+2)(a-1)°
=(a-4)(a+2)(a-1)(a—-1)

S A+B+C+D=(-4)+2+(-1)+(-1)=-4

a
a




11. 2+ 3xy—x-6y -2 5 A3l ot¥ (x - 2)(ax + by + ¢) ©|Th.
a+b+c o gt= TorefEt
> E

> & a+b+c=5

B ~

x? + 3xy —x — 6y — 25 x°f Tl FlstH
x4+ By-1)x-23y+1) = (x—2)(x+3y+1)
ca=1,b=3,c=1

“a+b+c=5




12.

a=1+ﬁ,b=1—«5w1,9—g9m%?
a

D -4+2 @ -2V2 ® 2v2
@42 ® 62

B

ab=(1+V2)(1-V2)=1-2=-1

a+b=(1+V2)+(1-v2) =2

a-b=(1+V2)-(1-v2)=2v2

b -a> —(a+b)(a-b)
ab

42
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13. & Fad—a? —a+19] 957} obd 2 B W A1 FotH?

@ a’+1 © a*-1 © a+1
® a-1 @ a®>+1

D14 @24 @3AH @44 6 @

B \
ad-a*-a+1=a*a-1)-
= (a® - 1)(a 1)
=(a-1)*(a+1)
OA @ —a? —a+ 19 538 A2 ©, ©, @°|BE A7t
ofd A2 F2 27o[ct.




x16-1 ] 914 xn 4 1 ] el m o] B 5 Gl ALY

14.

@ 2 ® 4 @)6 ® 8

D1




15. A B7boad 2E W, A+ B 9] gh2?

A= V5 + /(=2 = /B x (- 3)°

B = Vi x \/§+<_\/§>

@2 o4 ® 0 @ 1 ® 2

A=14+2-3?x2=7-18=-11

B=12X§+<—g>:12x§x<_§):_10
9 3 9 2

A+ B=-11+(-10) = -21







17. 2< Vx—4 <3 & WS5hk= A x 9 g2 2 A7

@ 2 @ 4 ® 6 @)8 ® 10

B

2< \x—4/<3
x—4>0¢ o

4<x-4<9 8<x<13
x=9, 10, 11, 12
x—-4<0L o,
-9<x-4<-4,-5<x<0
x=-4, -3, -2, -1




18 E}_Go]-/gl (a+b)2—(a+b)a_2a2_%q_—gg_/4
42 the ol n2w)
® (2a-10) @(b—a)
@(Qa +b) ® 2a

(x=2a)(x+a)
=(a+b-2a)(a+b+a)
(b—a)(2a+b)




